

SEASON 1995/96 19th ANNUAL REPORT



# **INDEX**

SPONSORS	2
OFFICE BEARERS	3
AWARD WINNERS	4
PRESIDENT'S REPORT	5
BALANCE SHEET	6
STATEMENT OF INCOME & EXPENDITURE	7
COACH'S REPORT	8
1st GRADE REPORT	10
2nd GRADE REPORT	12
3rd GRADE REPORT	13
4th GRADE REPORT	14
VETERAN'S REPORT	15
COLTS REPORT	17
JUNIOR COUNCIL REPORT	18
1st GRADE AVERAGES 1995/96	19
2nd GRADE AVERAGES 1995/96	20
3rd GRADE AVERAGES 1995/96	21
4th GRADE AVERAGES 1995/96	23
SUM OF ALL GRADES AGGREGATES 1995/96	24
SUNDAY LEAGUE AVERAGES 1995/96	26
COLTS AVERAGES 1995/96	27
1st GRADE AVERAGES 1977/78 to 1995/96	28
1st GRADE MATCH RESULTS 1977/78 to 1995/96	32





#### **SPONSORS**

The Subiaco-Floreat Cricket Club would like to thank the following sponsors for the help and support received from them during the 1995/96 Season.

**Major Sponsor** 

GIO Australia

**General Sponsors** 

Asea Brown Boveri

Murray Cutbush

Dulux Australia

Fitzgerald Realty

The Wembley Hotel

Wembley Physiotherapy

**Lynford Motors** 

JH Wilberforce Pty Ltd

National Australia Bank

**KPMG Chartered Accountants** 

Superline Plastic Products

The Plastic Sheeting Place



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

## **OFFICE BEARERS 1995/96**

**PATRON** 

Dr Elizabeth Constable (MLA)

PRESIDENT

Mr I. Plaisted

VICE PRESIDENTS

Mr K. Darragh Mr J. Worland

Mr G. Catlin

SECRETARY

Mr J. Cooke

TREASURER

Mr G. Hann

MANAGEMENT COMMITTEE

Mr C. Beattie

Mr A. Bolton Mr B. Le Tessier Mr P. Farley Mr R. Campbell

Mr K . Payne

CHAIRMAN JUNIOR COUNCIL

Mr R. Birmingham

WACA DELEGATES

Mr K. Payne

Mr R. Bolton (Juniors)

SENIOR COACH

Mr G. Stafford

LIFE MEMBERS

R.A. Robinson, H.C. Howard, F.A. Barnard,

D. Blair, D.S. Drew, T.E.E. Jones, A.D.M. McIntyre, J. Everett, Mrs J. Everett, C. Pegler, A.D. Drew, C.R. Farley, L. Mills, S. Briggs, T.H. O'Dwyer, D. McCraw, M.C. Bolton, J. Langer, W.M Gardiner,

J.W. Rutherford, A Burnett, R.D. Burgess, H.N Gutherie, J.H.E Dickens, B.G. Hayes D.F. Phillips, W.W. Turner, M.C. Lee, D.E. Hoare

J.M. Hubble, A.R.B. King, R.G.H. Hann, D.F. Phillips, L.J. Barnes, J.R. Lyons,

Mrs B. Beecroft, R.W. Statham, G.L. Stafford, A.D. Bolton, G. Lees, T. Alderman & K. Payne.

CAPTAINS

Mr S. Herzberg (1st Grade) Mr V. Rule (2nd Grade) Mr R. Catlin (3rd Grade) Mr T Hoar (4th Grade)

A GRADE SCORER

Mr P Thomson

BANKERS

National Australia Bank

page 2



#### **AWARD WINNERS 1995/96**

CHAMPION CLUB CRICKETER L.B. BOLTON SHIELD	Murray Goodwin
Ist GRADE FAIREST & BEST PALS MEDAL donated by Procurement and Logistic Services	Steve Herzberg
BEST CLUBMAN GRAHAM LEES MEMORIAL AWARD donated by Dr Elizabeth Constable MLA	Jan Plaisted
SPINE AWARD for Spirit, Performance, Involvement, Nature & Effort.  donated by Wembley Physiotherapy	Danny O'Regan
JUNIOR CRICKETER OF THE YEAR donated by Wembley Physiotherapy	Damien Casson
MOST IMPROVED CRICKETER donated by John Worland	Stuart Boyle
COACH'S ENCOURAGEMENT AWARD donated by Graham Stafford	Simon Leahy
1st GRADE BATTING AWARD A.D. DREW MEMORIAL TROPHY donated by the Hann Family	Murray Goodwin
Ist GRADE BOWLING AWARD JOHN NICE MEMORIAL TROPHY donated by the Nice Family	Steve Herzberg
2nd GRADE BATTING AWARD KARL PLAISTED MEMORIAL TROPHY donated by the Plaisted Family	Anthony Flynn
2nd GRADE BOWLING AWARD donated by the Kevin Payne	Joel Murphy
3rd GRADE BATTING AWARD donated by Ron Burgess	Kim Lange
3rd GRADE BOWLING AWARD donated by Jim Rule	Clint Palmer
4th GRADE BATTING AWARD donated by the Chris Beattie	Simon Leahy
4th GRADE BOWLING AWARD donated by Kerry Darragh	Greg Catlin

Life Membership awarded to Kevin Payne for his many years of outstanding service.



### SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### PRESIDENT'S REPORT

Well another cricket season has come and gone, and this year our 1st Grade did better than last year with five wins to their credit, however we didn't make the four which was our goal.

I feel the endeavour was there under the guidance of Steve Herzberg as Captain and Graham Stafford as Coach, good performances were forthcoming from Murray Goodwin with over 700 runs for the season winning both the Competition batting average and aggregate for the pennant season and well supported by Paddy McKeown and Steve Herzberg with both bat and ball.

Steve's professionalism was evident especially against Gosnells where we won outright, putting us into the four for the first time in a long time. He will be sadly missed next season as we believe he will be travelling overseas to take up a coaching/playing position in Scotland for the winter and will then go to Sydney on his return.

We did however unearth some promising juniors in Matthew Elliott and Chris Isles this year and we hope they both go on to bigger and better things next season.

The other grades showed promise and possibly could have achieved better results, however they left their run too late with all teams missing the finals, maybe next year will see a return of Subiaco-Floreat teams participating in finals action.

Congratulations to all centurions.

The juniors showed the senior club the way with the only premiership by Subiaco Floreat CC being the Under 15's, congratulations to Lester Barnes and his boys.

GIO Australia through their State Manager for Western Australia, Rob Griffiths, again supported us, being our major sponsor, and thanks go out to him and his company together with all the other sponsors who also assisted us. The club is sincerely thankful as without your support we could not continue to operate with increasing costs, such as ground hire, pavilion hire and other cricketing requirements.

To my committee, thank you for your assistance throughout the season, in particular our Practice Captain /Cellarmaster/ Wet Weather Person, John Worland, House Director Kerry Darragh, Caterer Jim (Rolls) Rule and my wife Jan for her untiring efforts helping Jim and organising the afternoon teas which are second to none.

To conclude, I would like to make mention of Graham Stafford our retiring Coach, he put many hours into the preseason and during the season organising outside tution, e.g. Craig Harms, and all the unseen duties that go with a good coach. Graham, thanks for your assistance over the past two years and best wishes to you and your family, as you deserve a well earned break.

Ian Plaisted President

Season 1995/96

"Long ago I discovered there was more to life than cricket: and more to cricket than runs and wickets." DAVID FOOT from "Cricket's Unholy Trinity"



Season 1995/96

# SUBIACO - FLOREAT CRICKET CLUB (Inc)

# **Balance Sheet** As at 30th April 1996

	1995/96 \$	1994/95 S
	•	•
Accumulated Funds		
Opening Balance	6,887.21	6,635.26
Net Profit	1,399.25	251.95
Total Accumulated Funds	8,286.46	6,887.21
		,
Represented by:		
Current Assets		
Cash		
Cash At Bank - NAB	11,002.51	2,954.56
Cash At Bank - CBA	985.05	730,62
Accounts Receivable	6,250.00	760.00
Inventory		
Cricket Equipment	1,917.20	2,060.80
Total Current Assets	20,154.76	6,505.98
Non-Current Assets		
Plant & Fixtures	3,198.95	3,198.95
Less: Accumulated Depreciation	(1,639.60)	(999.81)
pess. Recallidates Depreciation	(1,057.00)	(227,007)
Total Non-Current Assets	1,559.35	2,199.14
Total Assets	21,714.11	8,705.12
Current Liabilities		
Creditors & Borrowing's		
Accounts Payable	13,427.65	1,817.91
That A Command Linkillation	12 427 65	1 917 01
Total Current Liabilities	13,427.65	1,817.91
	<del></del>	
Total Liabilities	13,427.65	1,817.91
Net Assets	8,286.46	6,887.21



Season 1995/96

# SUBIACO - FLOREAT CRICKET CLUB (Inc)

# Income and Expenditure Statement

For the Year ended 30th April 1996

	1995/96	1994/99
	\$	\$
ncome		
Subscriptions		
Senior	8,046.00	6,732.0
Non Playing	815.00	1,040.0
Veterans	300.00	310.0
Bar Trading Profit	7,150.23	5,685.5
Profit on Sales of Caps, Shirts etc.	(15.00)	220.0
Donations	365.00	240.0
Fund Raising	6,475.35	1,349.0
Interest Received	14.56	7.4
Sponsorship	12,130.30	5,591.4
WACA Receipts		
Sundries	648.34	4,342.9
Grant	6,750.00	6,750.0
Prizemoney	300.00	3,050.0
	42,979.78	35,318.3
Expenditure Afternoon Teas/Function Costs	3,007.91	3,184.1
	205.09	229.6
Bank Fees	203.09 581.00	
Cleaning		1,152.0
Cricketing Costs	12,476.00	10,685.0
Depreciation	639.79	419.8
Electricity	715.20 5,227.00	4,910.2
Equipment	3,227.00 417.99	4,910.2
General Expenses		
Ground/Pavilion Hire	13,549.24 251.61	6,946,2 460,0
Hire of Plant & Equipment	2.018.89	2,603.5
Insurance Interest Paid	4.66	2,603.3
	4,00	1,500.0
Junior Cricket Club	220.00	220.0
Licensing Fees	795.25	1,435.5
Postage, Printing & Stationery	55.15	213.8
Repairs & Maintenance Scoreboard Attendants	160.00	190.0
	60.00	214.0
Signwriting	356.15	399.1
Telephone	494.60	117.0
Trophies WACA	345.00	30.0
WACA	41,580.53	35,066.4
	41,380.33	33,000.4
	1.399.25	251.9



#### COACH'S REPORT

#### Pre-Season

The season started back in June 1995 with a small development squad of "potential A Grade" players working in the Hale School nets. At the beginning of August Club training commenced using a variety of venues such as Floreat Oval and nets, McLean Park, the Beach, Kings Park and the WACA Indoor Nets.

#### Player Strength

Player numbers at the begining of the year were very good with approximately 50 to 55 players available and vying for selection in the first game. Generally, I was very happy with attendances and the attitude of those who made the efforts in the pre-season training. However, while it is always pleasing to have those numbers early, it is inevitable that there will be disappointments causing those players not selected to disappear very quickly.

New players to the Club were significant with some 25 new faces playing at some stage during the season in the four grades. One of the most significant changes occurred at A Grade level with 7 new faces representing the Club in the first game. In many respects it was the heralding a new era in the Club.

#### Results

Overall the results on paper may not appear to be that good, however there are some significant positives which counterbalance the points ultimately scored. The most significant being the introduction of a number of young talented players to all grades of cricket throughout the Club.

The average age of all players in the Club was only 21 years which is by far the youngest I can recall in my 33 year association with the Club. The successful introduction of 17 year olds Matthew Elliott and Chris Isles, and 18 year olds Warwick Finlay and Paddy McKeown to the A Grade this season was very gratifying. Matthew and Paddy both scored around 400 runs which was a tremendous first up effort.

Equally other young players aged from 15 to 17 were introduced to the other grades with considerable individual success. Clearly the Club has a real future through most of these players together with an extremely talented bunch of players who are constantly winning "Premiership Flags" in the under age competitions, U13's, U15's and U17's,

#### A Grade

The A Grade was a very competitive side in all games it contested this season and all players can feel proud of their efforts. The most significant reason for this was the appointment of Steve Herzberg as Captain. Steve was the best thing that has happened on the playing side to this Club for a long time with his extreme competitiveness, aggression, professionalism, skills and experience and his positive outlook and belief in his and his players abilities to perform.

I would like to personally thank Steve for his efforts not only on the playing field as a player and Captain but also for his significant coaching contribution by effectively playing the role of "Captain Coach" of the A Grade squad. The support and efforts of Craig Harms as our Mental Skills Coach and the time he spent in assisting Steve with fielding drills all year and the other work he did with other players in all grades was greatly appreciated.

To Murray Goodwin who has been our outstanding batsmen for a number of seasons my congratulations on an excellent season in winning both the WACA Batting Aggregates and Averages for 1995/96. My only regret for Murray was that he did not get his just deserts and have the opportunity to wield the willow for his State this season.

#### Seconds, Thirds and Fourths

Season 1995/96

Towards the end of the season the seconds were the only grade with a realistic chance of making the finals. Unfortunately this was not to be in the end equation, however, I am sure all players learnt a lot



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

from the season and improved as players. Of all our sides the seconds were the most experienced and the players would no doubt be a little disappointed that they did not get there in the end. My thanks to Captain Vince Rule and stand in Captain for the last part of the season Tim Beattie for their efforts.

The Thirds and Fourths were also a little disappointing as most of the season they appeared to have reasonably competitive and talented sides on paper. However, in my opinion it became obvious later in the season that a lack of experienced players was the major reason for not being able to rack up any more wins. Notwithstanding that, I have already touched on the counterbalancing positives to that issue earlier in this report. To the Captains Richard Cattin and Tony Hoar my thanks for your efforts.

I would like to take this opportunity to thank all of those who contributed to the success of the Club this season and also provided me personally with the level of support I received. To our President lan Plaisted and the hard working Committee who put in considerable hours and efforts way beyond what the players will ever understand. To our Practice Captain John Worland for a difficult job well done. To Kerry Darragh and Alan Bolton who formed part of the Playing Committee and Selection Panel, I greatly appreciated your support, cricket experience and knowledge which made a big difference to

#### Finale

Finally, I have informed the Committee that I will be standing down as Coach after a two year stint due to family and work commitments. I have certainly enjoyed the experience of Coaching "My Club" and being involved so closely with all the players old and new. I have always had a deep passion for cricket and in particular for this Club and its ongoing wellbeing. I would like to take this opportunity to wish my successor and the Club all the very best in what I believe will be a fruitful future.

**Graham Stafford** Coach

Season 1995/96

A Captain's role - "A PR officer, agricultural consultant, psychiatrist, accountant, nursemaid and diplomat." DOUG INSOLE



#### 1st GRADE CAPTAIN'S REPORT

Cricket is a wonderful game. As we all know it is a great leveller. So many highs and lows over such a short period of time, rather like riding a roller coaster.

The 1st Grade boarded our roller coaster in October versus Scarborough at Abbet Park. We lost to the reigning premiers in a tensely fought fixture. This game was my introduction to captaining a side in 1st Grade and it went off with quite a bang! Having to appeal for a handled the ball is not really my cup of tea, but nonetheless I felt compelled to do it in that particular situation. The carry-on by the Scarborough players and Club after the incident left a very bitter taste in my mouth. As a youngster I was taught to allways respect the umpire's decision and just get on with playing the game. It's a great pity that they don't teach this doctrine at Abbet Park.

Over the next five months we played some very good cricket and unfortunately some very sad cricket. I have extremely fond memories of excellent victories over Bayswater-Morley (the eventual premiers), Midland Guildford, Gosnells (outright), Willeton and Mellville.

Our major disappointment came in the one-day competition where on three occasions we failed to post defendable targets. Our performances were quite simply pathetic in the Sunday League, it is an area all players must seriously address before next season.

One important thing I have learnt over my years in cricket is that the game has an uncanny knack of rewarding those who are prepared to dedicate themselves to it. Whatever you put into cricket, cricket will reward you in its own wonderful way. Be lazy and carefree and your results will suffer. Be systematic, disciplined and committed and I assure you the benefits will come your way. Practise smart, not hard and who knows what you can or will achieve.

Certain people deserve thanks and recognition in this report. Firstly to Club Coach Graham Stafford for making the initial contact with me and offering the me Captaincy. Additionally, Staff I thank you allowing me to have my way with the side this season and commend you on your stint as Club Coach. Secondly, to Kerry Darragh and Alan Bolton for their continuing support and encouragement. The Club is extremely fortunate people as committed as these two are off the field and although they are unsung heroes, I assure you, in their own way they are champions off the field and the Club can not survive without them.

To the President and his wife, Ian and Jan Plaisted, many thanks for sticking with us in the tough times. To the man behind those famous chicken rolls, Jim Rule I say a big thank you. The net captain and bar manager John Worland deserves a Gold Medal for always being there and doing a sound job. To Phil Thomson our scorer I also say many thanks and very well done. All the above people are extremely important, but I've saved the most important people for last, the players and our mental skills coach Craig Harms.

To Craig I say very well done buddy! Craig kept us thinking positively, enjoying our cricket and most of all importantly playing as a team for each other all season. Most of 1st Grade cricket is, in my opinion played between the ears. Harmsy made sure that we were using our brains as much as possible this season. You have a big future in this boom area Craig and I'm sure the Club is with me in hoping you stick around.

Now to the players who helped make the season such an enjoyable/frustrating experience!

Murray Goodwin: My Vice-Captain and number one batsman. I saw a lot of batsmen in 1st Grade cricket this season. None of them came to close to Murray as players. This boy is a class act and Western Australia's loss was Subiaco-Floreat's gain. If he's not in the best six batsmen in W.A. then I'm an extremely bad judge of players. Big hundreds versus Bayswater-Morley and Midland-Guildford were the icing on the cake in a season where no player in a the competition came close to matching Murray's class at the crease.



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

Patrick McKewon: Our English import did superbly well in his first season of 1st Grade. A great hundred versus Midland-Guildford, ninety against Gosnells and seventy against a first class South Perth attack were all great team innings. Paddy is great team man and 1'm sure all at Subi wish him well at Lancashire this winter and hope he's back next summer.

Rob Campbell: Robbie contributed with bat and ball as well as being a specialist short-leg fielder. Tremendous potential is still yet unfulfilled. However a great 60 vs Bayswater-Morley (including Bruce Reid) showed what he's capable of. I predict a very big season next year for Cambo.

Matthew Elliot: Straight out of Hale School and into 1st Grade was no problem for "Herb". His debut season in senior cricket was fantastic and with more coversion of starts next season he'll go from strength to strength.

Vince Rule: Vince joined us for the last half of the season. A great 40 versus Uni, followed up with 59 not out versus South Perth showed us what this cagey veteran is capable of. A great team man, a great practicer and most importantly an excellent bloke!

Stuart Page: Our wicket keeper this season did a superb job. 19 dismissals, plus some valuable lower order contributions with the bat. This fellow has Subi in his blood and it was great to play in the same side. Also did not miss a trick as our fines master. If Stuey retires it will be a great pity, because there is still a lot of good cricket in him.

Gavin Swan: Well when you talk about Subi in the blood, this bloke is it! Our pace bowling spearhead fought through stress fractures to bowl all season and did a great job. A real 100% competitor and dangerous new ball bowler. 21 wickets with a buggered body was a great effort. Thank-you "Nanna".

Paul Neale: The "Scratcher" almost bowled us to victory versus Scarborough with a great 5 wicket haul. Injury set him back, but he fought back and was always putting in when he bowled for Subi-Floreat. Well done "Scratcher"! Another tremendous team man.

Tim Silinger: Played all but the last two games in 1st Grade. Took a great five for versus Bayswater-Morley. Never missed a training session and shows a lot of promise as a leg spinner. Tim's best years are still ahead of him.

To the other guys who also played some 1st grade I say thank-you and well done. Congratulations to Dave Darragh for his maiden half century versus Uni. To Joel Murphy, Tom Shankey, Chris Isles, "Erroll" Flynn, Kirky, Warwick Finlay; for getting a taste of 1st Grade and contributing to the team when you played.

I won't be back next year, but I know this team will continue to play positive, attractive cricket.

Remember you must never fear failure, challenge it and seek success. Above all cricket is a game that we play to enjoy and express ourselves. Winning is important but enjoyment and committment will always over ride it.

Steve Herzberg 1st Grade Captain

Season 1995/96 19th Annual Report page 11

Season 1995/96



#### 2nd GRADE CAPTAIN'S REPORT

The Seconds set out in 95/96 with the aim of significantly improving on a poor 94/95 season. I felt overall that the team's performance of 6 wins was a good effort, and if not for a couple of very close games going against us, we would have made the finals.

The season started disastrously with a very poor performance against the new boys of the competition, Rockingham-Mandurah. To be bowled out twice against a Country Week side was very disappointing and the low point of the season. To the credit of the guys, we showed a lot of character to bounce back with a couple of great victories against Bayswater -Morley and Gosnells, the latter being one of the finest wins I've been associated with. These wins really created a good team spirit and made for an eniovable season.

The batting was still inconsistent this season. There were four games we can point to where we had major collapses in the first session. It goes without saying that it is very difficult to post winning scores when the side is 4/20. There were some excellent performances however, and it was great to see some centuries scored. Tim Beattie played a superb innings of 134, when we fell tantalisingly short by 5 runs in a chase against Willetton. Dave Harris played as only he can when he slaughtered the North Perth attack for a great 140. Stuart Boyle hit a magnificent 120 in only his second game of 2nd grade against South Perth. Coming in to bat at No 8, and chasing a large total of 334, Boyley and Paul Kirk (who made 62), made what was almost a match winning partnership only to fall 9 runs short of what would have been an incredible victory. Our fourth centurion was Dan O'Regan who made his first century in 2nd's against his favourite team, Midland Guildford. Dan hit a fine 120 and really relished the opportunity to open after spending a lot of time in the middle order. Together with another solid season with the gloves, I'm hoping Dan can really kick on next season.

One player I'd like to make mention of is Tony Flynn, "Errol" started the season in 3rds and felt that he had a few points to prove when he was given his chance in 2nds. He responded in magnificent fashion to win the 2nd grade average with 428 runs at 35.67. He was very consistent all season and most of his runs came when the side was deep in trouble. Coupled with some good spells with the ball and his always enthusiastic approach in the field, Tony had his best ever season in 2nds.

The bowlers again performed admirably in trying circumstances, with the hard working Joel Murphy again leading the way with 28 wickets at 14,39 to take out the bowling award. Joel has been a great performer in 2nd grade for the last couple of seasons and with his great attitude to training, he fully deserves his successes. Paul Kirk also bowled some excellent spells and always gives 110% on and off the field. This was recognised in the latter stages of the season when "Beefy" was promoted to 1st

A couple of young players emerged in 2nds this season. Stuart Boyle's performances have been mentioned earlier, and he has got a heap of ability. It would be great to see him take the next step in season 96/97. Chris Isles showed his great potential and was promoted to 1st grade where he made a couple of good forties. At just 18, he has the ability to be a good 1st grade player for the Club for many years.

I would like to thank all the players who represented the 2nds this season, particularly Tim Beattie who took over the captaincy in my absence.

Finally I would like to take the opportunity to thank Graham Stafford for his work over the last two seasons. Graham has put in a lot of time and energy into the Club and should be commended for a job well done.

Vince Rule 2nd Grade Captain



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### 3rd GRADE CAPTAIN'S REPORT

Generally the Subiaco-Floreat 3rd Grade season was disappointing. However patches of great team and individual performances made the effort worthwhile. Highlight games were the four victories.

In round two the team dug deep to bowl out Scarborough for 173 after they had been 1/113 chasing 186. For Subiaco-Floreat, Chris Isles made a solid 40 on a slow outfield, while Steve Wright bowled 25 overs straight claiming 4/54.

Against South Perth, Andy Worland led the side with style, with several players making contributions, Best with the ball was Duncan Bond (4/33), while run getters were Captain Worland (41), Danny Quai in a rare 3rd Grade appearance (75) and the ageless Nick Rule (55).

Wanneroo had Subiaco Floreat on the ropes at 6/138 chasing 261. However, the middle order batsmen came to the rescue. Damien Casson scored a great 59 before veterans Catlin (56 not out) and Arnie Palmer (18 not out) brought the side home with 3 balls to spare. Unfortunately the game was declared a tie as the scorers for Subiaco-Floreat forgot how to count! I hope we can improve on that part of our game by next year. This mistake could have cost us a place in the finals in different circumstances.

Dubious decisions and a dead wicket made for a low scoring game at Cottesloe Oval against Claremont-Nedlands. In a return from the wilderness Gordon Webster top scored with 37 whilst sheik of tweak, Robbie "Neil" Parr finally got rewards for his toils with 4/20 including two match winning caught and bowleds. Robbie struggled for most of the season but by the end of the year he started to trouble more batsmen when he worked harder at bowling more leggies. He can continue to move up the grades in the future. However leg spin is an "art" and no one knows more than Robbie that perfection takes time.

The third grade bowling attack struggled during the season. Clinton "Arnie" Palmer stood out like a sore thumb as the teams most potent and reliable bowler. With 22 wickets at an average of 18.18, Arnie well deserved the bowling award. Steve Wright also showed potential with 15 wickets. With a little more consistency Wrighty can develop into a good bowler.

The teams batting was a little better but definitely lacked consistency. Kim Lange showed the way with 317 runs at 24.38, to win the batting averages. In the first half of the season Stuart Boyle made 197 runs at 32.83 before going on to bigger and better things in 2nd Grade. In two 3rd Grade innings Danny Quai made two fifties and now just needs to take the next step to success at the next level. Part time captain Catlin also had success down the order scoring 180 runs at an average of 35.60.

Other players to show glimpses of form were Duncan Bond, Nick Plaisted and Dylan Allsond. Duncan had some good performances with both bat and ball. To become a good cricketer he needs to show the extra dedication required to be a consistently good performer. Nick showed style behind the stumps and made some handy contributions with the bat. By working on the concentration side of his game, Nick could turn twenties into fifties and take the winning catch at the end of a long day behind the stumps. Dylan showed great courage when asked to open the batting and the experience gained this year will be of benefit next season when the runs should flow for him at the top the order.

It is fair to say that the team did suffer during the year when the captain was away on work commitments. Sincere thanks go to the variety of other captains that helped out during the year. Many thanks also for the tireless work of the committee, coaching staff, and in particular Jan Plaisted and other afternoon tea helpers. As a whole the club became more competitive this year. It would be great to improve on that again next year and see sides making finals appearances.

Richard Catlin 3rd Grade Captain

Season 1995/96



#### 4th GRADE CAPTAIN'S REPORT

Well, well. Some would say 3 holes in the ground. This was going to be a regrouping year for the club as class players from last season's premiership team either left the 4th Grade to try themselves up the ranks or put themselves out to pasture.

With four premiership players back for another year, a premiership hangover filtered through the team and it wasn't until the 3rd round that we got a win on the board. The influx of U17's into the 3rd's and 4ths offered a new lease of life and it was great to see them take the step up and perform at the required level

Throughout the season, week in and week out the bowlers did the job for us. We bowled six teams out and two of those twice. Three teams for nine wickets and two teams for eight wickets. Our main strike bowlers were the ever reliable Greg "The Cat" Catlin with 27 wickets at an average of 13.74, Rod "The Wrecker" Clark with 21 wickets at 15.00 and Andrew "Bluey" Rintoul with 20 wickets at 24.75. They were admirally backed up by Spin Twins Bernie Le Tessier and Damien Hughes and at various times by Nick Rule, promising left arm quick Adam Cross and swing bowler Justin Dwyer.

Our fielding improved as the season went on, Damien Hughes and Simon Leahy caught well in the slips. Oposition batsmen had trouble getting past Froggy Le Tessier who covered the square of the wicket possie for most of the year. Special mention should go to George Christodoulou behind the stumps, Subi should expect big things from this up and coming star not only with the gloves but the bat as well.

The aim of the game is also to make runs and this we didn't do this too successfully. With all the regular batsmen averaging less than 27 and only one batsman scoring more than 250 runs for the season, its no wonder that we failed to chase the moderate totals that were set, which was frustrating for our bowlers.

There were a few occassions to smile. Simon Leahy's brilliant 100 against Willetton, Bernie Le Tessier's hit a fine 92 in a winning partnership with Nick Rule (who showed his class with a 70) against Claremont-Nedlands. David Bolton showed grear maturity in scoring a classy 78 runs against eventual 1996 Premiers South Perth.

In a few words, practice makes perfect. Basic skills such as running between wickets and building an innings towards a game-plan need to be improved, too many of us reached 20 and then threw our wickets away. It's something we've got to work on so that we can improve from this season's inconsistant performances and achieve the consistency required to win premierships.

In summary, the 4th's won five, drew one and lost six matches, finishing in the middle of the road. Losing close games to University, South Perth and Wanneroo in January and February put us out of finals contention. If we had won all three we would finished third or fourth and been in the playoffs. Striving to be a Dream Team winning back to back flags unfortunately wasn't to be.

Finally, I'd like to thank Greg Catlin for standing in as Captain when I was away and all the players for their input and support during the season.

Tony Hoar 4th Grade Captain



## **SUBIACO - FLOREAT CRICKET CLUB (Inc)**

#### VETERANS REPORT

An enthusiastic and enterprising band of veterans have represented Subiaco-Floreat in six matches in the WACA Veterans Competition this season. The Richard Wilberforce Memorial game between the former Subiaco CC players and the Floreat CC players was also held again at Floreat Oval on 10 December 1995.

It was an enjoyable and satisfying season with all games being keenly contested and played in good spirit. We batted well in all but one game with all batters having the opportunity to feature. The bowling was always tight and controlled never allowing the opposition batsmen to dominate.

#### Highlights of the season were:-

- the fearsome attack that many times included 7 or 8 off spinners
- . limiting the number of hamstring strains to 2 for the season
- the enjoyable hour or two spent over a drink after the game reliving the exploits of the day and those of 25 years ago
- a pleasant Sunday afternoon spent at Lilac Hill in the 42 plus degree heat

#### **WACA Competition Results**

Subiaco-Floreat 8/181 (L King 64 P Farley 49) defeated Bayswater-Morley 164 (S Croker 2/28 L Davies 2/35)

Subiaco-Floreat 127 (R Bolton 40 P Forrestal 23 L Davies 22) lost to Rockingham-Mandurah 4/130 (P Farmer 2/11)

Subjaco-Floreat 4/150 ( G Stafford 34) defeated Claremont-Cottesloe 149

Subiaco-Floreat 172 (G Hann 52 R Bolton 46 P Forrestal 21) lost to Fremantle 8/175 (R Statham 2/28 E Hayes 2/39)

Subiaco-Floreat 9/201 (P Forrestal 47 R Bolton 39 R Elliott 37 P Farley 33) lost to Midland-Guildford 7/202 (P Forrestal 1/12 L Davies 1/17)

Subiaco-Floreat 6/194 (G Stafford 59 Ret. G Gaunt 53 Ret. L Davies 21) defeated South Perth (L Davies 2/24 R Bolton 2/27)

#### Richard Wilberforce Memorial Game

Well finally the tide turned and the Floreat boys knocked off Subiaco for the first time in 6 years. Some serious recruiting by the Floreat selectors made a big difference to the competiveness of the side allowing a comfortable win in the end.

Floreat CC 8/170 (R Statham 33 Ret., C Smailes 32, R Bolton 24 N Knight 2/10) defeated Subiaco CC 9/162 (R Cann 39 no, G Stafford 24 Ret. N Knight 21) (See Scoreboard for full details)

Paul Forrestal Veterans Co-Ordinator

Season 1995/96



Season 1995/96

## SUBIACO - FLOREAT CRICKET CLUB (Inc)

### RICHARD WILBERFORCE MEMORIAL SHIELD Subjaco Cricket Club Vs Floreat Cricket Club

Floreat Oval 10th December 1995 Toss won by Subiaco C.C

Umpires Andy Pudovskis and Sean Cowan

	SUBI	ACO C.C			FLOREAT C.C							
1	Peter Simpson	Retired	17	1	Chris Smailes	Caught L King Bowled L Davies	32					
2	ivan Lally	Bowled	•	2	Paul Forrestal	Caught   Lally Bowled N Knight	5					
3	Graham Stafford	Retired	24	3	Kim Hughes	Caught and Bowled P Jones	8					
4	Noel Knight	Run Out	21	4	Graham Gaunt	L.B.W Bowled G Stafford	15					
5	Larry King	Retired	17	5	Geoff Hann	Caught N Knight Bowled A Porcaro	18					
6	Neil Randall	L. B. W Bowled G Gaunt	3	6	Ross Bolton	Caught R Cann Bowled J King	24					
7	John King	Caught R Statham Bowled K Hughes	2	7	Peter Green	Not Out	13.					
8	Peter Jones	Stumped R Bolton Bowled P Green	12	8	Reg Statham	Retired	33					
9	Rod Cann	Not Out	39	9	Bill McIntosh	L.B.W Bowled N Kight						
10	Angelo Porcaro	Not Out	19	10	Alan/David Bolton	Not Out	9					
11	Larry Davies	Did not bat		Ш	Peter Mellows	Did not bat						
		Sundries	8			Sundries	12					
		TOTAL	9/162			TOTAL	8/179					
CS RS PN GI GC KI	O-M-R-W imailes 4-0-13-1 latham 4-1-11-1 deliows 6-1-16-0 lann 6-0-14-1 dughes 6-1-14-1 orrestal 4-1-11-0 orreen 3-0-24-1 McIntosh 3-0-17-0		·	N K N F P Jo L C A F G S R C	WLING O-M-R-W (night 6-2-10-2) (andall 5-0-22-0) ones 5-0-22-1 (ovaries 6-1-34-1) (ovaries 4-0-7-1) (otatifierd 3-1-6-1) ann 2-0-10-0 (ing 4-0-30-1)							
P F P C W	orrestal 4-1-11-0 Green 3-0-24-1			R C L K J K	Cann 2-0-10-0 Ling 3-0-8-0							

"One fascination of cricket is that it never ceases to fascinate. To become a devotee in childhood means being hooked for life. Happily it is an addiction for which there is no need of legislation nor government health warnings." DAVID RAYVERN ALLEN from "Cricket: An Illustrated History""



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### COLTS REPORT

Subjaco-Floreat Colts had a more successful season than those of the last couple of years, although did not perform to their true potential. Having only won a single qualifying match, the team earned a place in a quarter final appearance, on the basis of a run rate ratio. However it failed to move further towards the final and was outclassed by a strong Wanneroo side.

Although the team was a very young side, there were no less than four players with A-grade experience. However, we lost our matches as the team never managed to play as a unit, with only one or two players performing well each game.

The first two qualifying matches, where we played South Perth and Perth, were extremely close with Subjaco-Floreat going down in both cases by just a few runs.

Against South Perth, Duncan Bond bowled well taking early wickets, whilst Chris Isles Scored a patient fifty and was supported by the batting of Warrick Finlay. Matthew Elliott and Patrick McKeown made a quick start in the match against Perth and at one stage Subiaco Floreat looked set to amass a total in excess of 250. However, we lost quick wickets and the opposition reached the target of around 200 with a few balls to spare.

The team went into the third and final qualifying match with little hope of playing in the quarter finals. However, Warrick Finlay batted superbly for 96, whilst Steve Wright supported him and we reached a total of 200. Leg spinner Robbie Parr took three wickets to rout the opposition all out for less than 150. This unexpectedly took us into a tough quarter final match against Wanneroo, where we unfortunately ended our season, going down by a large margin.

The future of Subjaco-Floreat Colts looks bright, with the majority of the squad back for at least another two years.

Thanks must go to Alan Bolton for coaching the side and also those members of the club who showed interest in coming down to the colts' matches.

Steve Wright Colts Captain.

Season 1995/96

"When you win the toss - bat. If you are in doubt, think about it - then bat. If you have very big doubts, consult a colleague - then bat." W G GRACE



#### JUNIOR COUNCIL REPORT

During the 1995-1996 season, the success that has been enjoyed by the Junior Club over recent years continued.

The U13 Inverarity Shield team coached by Ron Birmingham and Wally Edwards enjoyed a successful season completing the season undefeated before narrowly losing to Willetton in the final in an exciting match that was decided on the last ball. Highlights throughout the season included Phillip Edwards' 24 runs ad 4 for 24 against Wanneroo, Nicholas Birmingham's 5 for 25 against Bayswater/Morley and 29 valuable runs against Willeton in the final, Marcus Wagner's 29 not out and 3 for 12 against Claremont Nedlands, Kim Miller's 88 runs against Bayswater/Morley, Tim Sargeant's 25 runs and 3 for 5 against North Perth and Chad Jones' consistently reliable batting throughout the year including 24 not out against North Perth, 59 against Bayswater/Morley, 29 in the final together with his ever reliable wicket keeping. There were many other fine individual performances and the standard of the team in the field generally enabled it to restrict oppositions to small totals or defend small totals. The number of younger players who performed well this year and are available to play again in the 1996/97 season enables the club to be quietly optimistic as to its prospects for the coming season. Wally Edwards has been appointed to coach the team during the 1996/97 season.

The 15's side coached by Lester Barnes had a mixed and at times, controversial season, however upon scrapping into the finals by the narrowest of margins, took full advantage of the opportunity by soundly defeating Willetton in the semi final and going on to defeat Wanneroo to win the pennant in the final. Outstanding performances during the season included Daniel Barnes' 133 against South Perth and 4 for 14 in the final against Wanneroo and Sam Pearce's 71 against Wanneroo in the final. Alan Bolton has agreed to coach the team during the 1996/97 season and is keen to continue cricket coaching success enjoyed with the Inverarity team in the past. The number of players coming through the ranks of successful Inverarity Shield teams will ensure a good showing next year.

The U17's side coached by David Isles enjoyed a mixed season. Whilst the side did not make the finals, many of the players will be available to play again next year and the Club can optimistically look forward to being a major force in the 1996/97 season, when the team will again be coached by David Isles. Congratulations to David and the players for the way they represented the Club this season.

The continued strong growth in cricket numbers within the District, is undoubtedly the principal reason for the success now being enjoyed by the club. With the establishment of the North West Metropolitan Cricket Association during the winter of 1995 and the creation of the zone, a more effective control of junior cricket with a greater emphasis on participation and involvement of junior cricketers in all levels of competition has been possible.

The competition for players between the Local, School and District Competitions remains a problem throughout the WACA and the need to restructure the WACA U15's and U17's Competition in a manner that will wnable clubs such as Subiaco Floreat to field the strongest side with the inclusion of th PSA players to lift the standard of competition is now being recognised. It is hoped that the competitions may be restructured and played ondays or in a format that will enable junior cricketers to participate in their School Competitions and if selected, Club senior teams on Saturdays without precluding them from playing in the Junior District Competition. Such a move will also assist in resolving them from playing in the Junior District Competition.

Ron Birmingham Junior Council President



## SUBIACO - FLOREAT CRICKET CLUB (Inc)

#### 1st GRADE BATTING AVERAGES

	Matches	Innings No	(Outs	Runs T	op Score	50's	100's	Average	Catches	Stumping
Goodwin M	11	14	1	767	171	3	2	59.00	2	
Herzberg S	12,	13	4	322	93	2	-	35.78	6	-
McKeown P	10	13	-	420	132	2	- 1	32.31	5	-
Rule V	6	6	2	123	59	- 1		30.75	3	-
Elliot M	H	14	1	372	69	3		28.62	6	
Darragh D	3	4	-	106	57	1	-	26.50	-	-
Isles C	4	6	2	97	42	-	-	24.25	3	-
Campbell R	11	14	1	295	64	1	-	22.69	11	•
Kirk P	2	2	-	34	33	-	-	17.00	1	-
Page S	12	12	5	107	25		-	15.29	19	-
Harris D	6	8	-	97	46	-	-	12.13	1	-
Swan G	10	11	1	108	31	-	-	10.80	4	-
Finlay W	6	- 8	1	65	30	-	-	9.29	7	
Dehring G	5	6	-	54	24		-	9.00	3	-
Neale P	9	7	3	35	15	-	-	8.75	5	
Silinger T	10	9	2	40	18	-	-	5.71	8	-
Sharkey T	2	1	-	4	4	-	-	4.00	-	
Murphy J	3	2	ı	2	1	-	-	2.00	-	-

#### 1st GRADE BOWLING AVERAGES

	Overs	Maidens	Runs	Wickets	Average 5	w/Inn	Best	run rate	strike rate
McKeown P	6	1	25	2	12.50	-	2/22	4.17	18.0
Goodwin M	11	1	48	3	16.00		2/24	4.43	21.7
Herzberg S	286	92	694	36	19.28	- 1	5/43	2.42	47.7
Neale P	156	38	470	17	27.65	- 1	5/48	3.01	55.1
Campbell R	76	18	271	9	30.11	-	2/10	3.57	50.7
Silinger T	137	29	434	13	33.38	1	5/79	3.17	63.2
Swan G	228	54	704	21	33.52	-	4/54	3.09	65.0
Rule V	18	4	75	2	37.50	-	1/18	4.17	54.0
Harris D	6	-	38	1	38.00	-	1/20	6.33	36.0
Murphy J	56	20	129	3	43.00	-	1/5	2.30	112.0
Sharkey T	29	4	89	2	44.50	-	2/33	3.07	87.0
Page S	. 4	-	54	1	54.00	-	1/21	13.50	24.0
Kirk P	26	6	63	1	63.00	-	1/48	2.42	156.0
Isles C	19	4	64	1	64.00	-	1/22	3.37	114.0
Finlay W	16	-	79	1	79.00	-	1/25	4.94	96.0
Elliot M	15	-	86	1	86.00	-	1/66	5.73	90.0
Dehring G	8	-	35	-	-	-	0/16	4.38	-



## 2nd GRADE BATTING AVERAGES

	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Boyle S	6	7	ı	269	120	-	1	44.83		-
Flynn A	11	14	2	428	65	4	-	35.67	-	-
Silinger T	2	4	2	71	34	-		35.50	-	-
Rule V	7	10	1	242	59	2		26.89	-	-
Harris D	7	9		229	140	-	1	25.44	-	-
O'Regan D	13	16	1	376	120	-	1	25.07	-	-
McKeown	1	1	-	25	- 25		-	25.00	-	-
Beattie T	13	17	-	406	134	1,	1	23.88	٠ -	-
Isles C	7	10		234	82	2	-	23.40	-	-
Kirk P	9	10	1	174	62	ŀ	-	19.33		-
Darragh D	8	12	1	208	56	2	-	18.91	-	-
Payne C	6	8	•	145	50	ı	-	18.13	-	-
Nice M	13	18	1	172	311		-	10.12	-	-
Parr R	2	3	1	20	17	-	-	10.00	-	-
Sharkey T	11	12	3	89	31	-		9.89	-	-
Quai D	11	14	3	105	33	-	-	9.55	-	-
Murphy J	9	8	3	47	15	-	-	9.40	-	-
Neal P	2	3	1	18	9		-	9.00	-	-
Henryon P	3	3	2	4	4		-	4.00	-	-
Lange A	1	1	-	1	1			1.00	-	
Palmer C	2	1	ŧ	10	10	-	•	-	-	•

## 2nd GRADE BOWLING AVERAGES

	Overs	Maidens	Runs	Wickets	Average	Sw/Inn	Best	run rate :	strike rate
Murphy J	197	59	403	28	14.39	2	6/42	2.05	42.1
Neal P	39	9	119	8	14.88		4/34	3.05	29.3
Silinger T	25	8	51	3	17.00	-	2/31	2.04	50.0
Flynn A	103	33	231	- 13	17.77		4/26	2.24	47.5
Kirk P	168	49	410	23	17.83		4/20	2.44	43.8
Nice M	149	49	336	15	22.40	-	4/30	2.26	59.6
Quai D	81	23	202	9	22.44		2/21	2.49	54.0
Henryon P	31	3	144	4	36.00		3/21	4.65	46.5
Rule V	44	15	112	3	37.33	-	1/19	2.55	88.0
Sharkey T	136	22	435	10	43.50	-	2/32	3.19	81.8
Harris D	25	7	45	1	45.00		1/30	1.80	150.0
Parr R	26	7	81	1	81.00	-	1/27	3.12	156.0
Palmer C	18	5	41	-	-	-	0/13	2.28	-
Beattie T	17	4	45	-	-		0/8	2.65	-
Isles C	19	7	71	-	-	-	0/14	3.74	-



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

## **3rd GRADE BATTING AVERAGES**

	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Quai D	1	2	1	142	75	2	-	142.00	-	
Bond D	7	6	3	139	65	1		46.33	-	_
Catlin R	` 7	7	2	178	56	2	-	35.60	-	-
Boyle S	7	7	1	197	68	2		32.83	-	_
Worland A	5	5	-	131	49	-	-	26.20	-	-
Lange K	13	15	2	317	67	2	-	24.38		-
Isles C	2	2	_	44	40		-	22.00	-	
Rule N	3	3	_	64	55	1	-	21.33	_	-
Payne C	7	9	-	178	47	-	-	19.78		-
Palmer C	10	8	3	93	33	-	-	18.60	-	-
Webster G	4	4	-	73	37		-	18.25	-	
Leahy S	5	4	1	54	25	-		18.00		
Casson D	6	6	_	97	59	1	<b>.</b> .	16.17	-	-
Plaisted N	13	14	-	223	38	-	-	15.93	-	-
Allsopp D	8	10	!	134	54	1	-	14.89	-	-
Cross A	3	3	1	27	24	-	-	13.50	_	_
Hutching C	1	1	-	13	13	-	-	13.00	-	-
Wright S	13	14		132	28	-	-	9.43	-	
Moran R	2	2	-	15	8	-		7.50	-	-
Riley J	2	1		5	5	-	٠.	5.00	-	
Flynn A	1	1		5	5	-		5.00	-	
Clark R	2	2		5	5	-		2.50		-
Parr R	11	7	3	8	4	-	-	2,00	-	
Cann C	1	1	-	- 1	1	-	-	1.00	-	-
Henryon P	4	2	_	i	1	-	-	0.50		
Tydde D	1	1	1		-		-	-	-	-
Howman S	2		-		-	-			-	-
Catlin G	1	_	-	-	-	_		-	-	



## **3rd GRADE BOWLING AVERAGES**

	Overs	Maidens	Runs	Wickets	Average	Sw/Inn	Best	run rate s	trike rate
Isles C	5	1	12	1	12.00		1/12	2.40	30,0
Quai D	24	4	70	5	14.00	1	5/70	2.92	28.8
Plaisted N	4	-	32	2	16.00		2/32	8.00	12.0
Cross A	31	6	68	4	17.00		2/26	2.19	46.5
Clark R	16	2	34	2	17.00		2/28	2.13	48.0
Palmer C	143	32	400	22	18.18	1	5/42	2.80	39.0
Catlin G	20	1	75	4	18.75		4/75	3.75	30.0
Riley J	27	11	41	2	20.50	-	2/24	1.52	81.0
Allsopp D	49	11	149	7	21.29		3/33	3.04	42.0
Bond D	64	16	162	7	23.14	-	4/33	2.53	54.9
Boyle S	34	7	109	4	27.25	-	2/12	3.21	51.0
Catlin R	75	21	169	5	33.80		2/25	2.25	90.0
Wright S	198	38	559	15	37.27	-	4/54	2.82	79.4
Henryon P	54	10	195	5	39.00	-	3/60	3.61	64.8
Payne C	7	-	44	1	44.00	-	1/37	6.29	42.0
Part R	152	25	481	9	53.44	-	4/20	3.16	101.3
Webster G	3	1	4	-	-	-	0/4	1.33	-
Leahy S	2	-	5	-	-	-	0/5	2.50	-
Howman S	12	4	31	-	-	-	0/31	2.58	-
Flynn A	. 8	1	27	-	-	-	0/27	3.38	-
Worland A	8	•	29	•	-	-	0/29	3.63	-
Moran R	3	-	17	-	-	-	0/17	5.67	-
Tydde D	3	-	19	-	-	-	0/19	6.33	
Lange K	1	-	13	-	-	-	0/13	13.00	-



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

## 4th GRADE BATTING AVERAGES

	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Worland A	1	1	-	75	75	1	-	75.00	1	-
Bolton D	2	2	-	106	78	ł	-	53.00	-	-
Lange A	1	1		47	47	-	-	47.00	-	-
Allsopp D	4	4	1	112	55	- 1	-	37.33	4	-
Hutchings C	6	6	-	211	105	- 1	1	35.17	3	-
Leahy S	6	8		213	100	1	1	26.63	3	-
Le Tessier B	12	14	2	304	92	- 1	-	25.33	5	_
Rule N	5	6	-	139	70	- 1	-	23.17	1	-
Cann C	2	2	-	45	41	-	-	22.50	2	-
Hoar T	8	9	-	194	61	2	-	21.56	8	•
Cross A	3	4	3	19	8	-	-	19.00	-	-
Courtis P	12	13	-	232	55	- 1	-	17.85	5	-
Hughes D	11	11	3	142	30	-	-	17.75	9	-
Catlin G	11	10	3	110	23	-	-	15.71	6	-
Barnes D	2	2	1	15	12	-	-	15.00	1	-
Casson D	2	2		27	27	-	-	13.50	1	
Botsis S	1	1	-	13	13	-	-	13.00	-	-
Christodoulou G	9	9	1	99	27	-	-	12.38	19	-
Rintoul A	10	11	1	123	34	-	-	12.30	5	
Swan J	1	1	-	10	10	-	-	10.00	-	-
Bond D	2	2	-	17	17	-	-	8.50	1	-
Clark R	8	8	1	46	21	-	-	6.57	3	
Catlin R	2	2	-	9	8	-	-	4.50	1	-
Simpson M	2	3	-	11	8	-	-	3.67	3	-
Howman S	2	2	•	3	2	-	-	1.50	. 2	-
Dwyer J	4	2	2	8	5	-	•	-	1	-
Gatti P	1	1	-	-	-	-	-	-	-	•
Medrano A	1	1	•	-	-	-	•	-	-	-

### 4th GRADE BOWLING AVERAGES

	Overs	Maidens	Runs	Wickets	Average	Sw/Inn	Best	run rate s	trike rate
Howman S	21	8	34	5	6.80	-	3/10	1.62	25.2
Tydde D	10	2	17	2	8.50	-	2/17	1.70	30.0
Catlin R	21	7	48	5	9.60	-	4/18	2.29	25.2
Swan J	22	3	63	6	10.50	1	5/63	2.86	22.0
Barnes D	11	1	- 11	- 1	11.00		1/11	1.00	66.0
Cross A	48	13	115	9	12.78	-	4/42	2.40	32.0
Rule N	38	13	80	6	13.33	-	3/13	2.11	38.0
Catlin G	145	40	371	27	13.74	-	4/27	2.56	32.2
Dwyer J	59	23	116	8	14.50	•	3/30	1.97	44.3
Clark R	138	41	315	21	15.00	1	5/25	2.28	39.4
Rintoul A	164	27	495	20	24.75	1	6/64	3.02	49.2
Hughes D	25	3	96	3	32.00	-	2/17	3.84	50.0
Bond D	7	•	39	1	39.00	-	1/39	5.57	42.0
Le Tessier B	109	15	314	6	52.33	-	1/15	2.88	109.0
Allsopp D	46	13	121	2	60.50		1/18	2.63	138.0
Leahy S	20	3	83	1	83.00	-	1/30	4.15	120.0
Cann C	18	7	26	-	-	-	0/8	1.44	-

19th Annual Report



## SUM OF ALL GRADES BATTING AGGREGATES

	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average
Goodwin M	11	14	1	767	171	3	2	59.00
Boyle S	13	14	2	466	188	2	1	38.83
McKeown P	11	14		445	157	2	1	31.79
Flynn A	12	15	2	433	70	4		33.31
Beattie T	13	17		406	134	1	1	23.88
O'Regan D	13	16	1	376	120		- 1	25.07
Isles C	13	18	2	375	164	2		23.44
Elliott M	11	14	1	372	69	3	_	28.62
Rule V	13	16	3	365	118	3	-	28.08
Harris D	12	17	-	326	186		ı	19.18
Payne C	13	17	-	323	97	1	_	19.00
Herzberg S	s 12	13	4	322	93	2		35.78
Lange K	13	15	2	317	67	2		24.38
Darragh D	- 11	16	1	314	113	3	-	20.93
Le Tessier B	12	14	2	304	92	Ĭ	-	25.33
Campbell R	11	14	1	295	64	i	_	22.69
Leahy S	11	12	1	267	125	i	- 1	24.27
Quai D	12	16	4	247	108	2		20.58
Allsopp D	12	14	2	246	109	2	_	20.50
Courtis P	12	13	-	232	55	ī		17.85
Hutchings C	7	7		224	118	i	1	32.00
Plaisted N	13	14		223	38	-		15.93
Kirk P	11	12	1	208	95	1	-	18.91
Worland A	6	6	•	206	124	i		34.33
Rule N	8	9	-	203	125	2	-	22.56
Hoar T	8	9		194	61	2		21.56
Catlin R	9	9	2	187	64	2		26.71
Nice M	13	18	1	172	31	-		10.12
Bond D	9	8	3	156	82	1	_	31.20
Hughes D	11	11	3	142	30		_	17.75
Wright S	13	- 14	-	132	28	-		9.43
Casson D	8	8		124	86	1		15.50
Rintoul A	10	11	1	123	34	•		12.30
Silinger T	12	13	4	111	52		-	12.33
Catlin G	12	10	3	110	23	_	_	15.71
Swan G	10	11	1	108	31	_		10.80
Page S	12	12	5	107	25	-	_	15.29
Bolton D	2	2		106	78	1	_	53.00
Palmer C	12	9	4	103	43	•	-	20.60
Christodoulou G	9		. 1	99	27	_		12.38
Sharkey T	13	13	3	93	35	-		9.30
Webster G	4	4		73	37	_	-	18.25
Finlay W	6	8	1	65	30	-	-	9.29
Dehring G	5	6		54	24			9.00
Neale P	11	10	4	53	24	•	•	8.83
Clark R	10	10	1	51	26	-	-	5.67
Murphy J	12	10	4	49	16	•	-	3.07 8.17
Lange A	2	2	-	48	48	-	-	24.00
	-	-	_	70	70	-	-	27.00



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average
Cann C	3	3	-	46	42		-	15.33
Cross A	6	7	4	46	32		-	15.33
Parr R	13	10	4	28	21		-	4.67
Barnes D	2	2	1	15	12	-	-	15.00
Moran R	2	2		15	8		-	7.50
Botsis S	1	1		13	13		-	13.00
Simpson M	2	3		11	8	-	-	3.67
Swan J	1	1		10	10	-	-	10.00
Dwyer J	4	2	2	8	5	_	-	0.00
Riley J	2	- 1	-	5	5	-	-	5.00
Henryon P	7	5	2	5	5	-	-	1.67
Howman S	4	2	-	3	2	-	-	1.50
Gatti P	1	1		-	-	-		0.00
Medrano A	1	1	-	-	-	-	-	0.00
Tydde D	2	1	1	-	-	-	-	0.00

### SUM OF ALL GRADES BOWLING AGGREGATES

·	Overs	Maidens	Runs	Wickets	Average 5	w/Inn	Best	run rate :	trike rate
Herzberg S	286	92	694	36	19.28	- 1	5/43	2.42	47.7
Catlin G	165	41	446	31	14.39	-	4/27	2.70	31.9
Murphy J	253	79	532	31	17.16	2	6/42	2.11	48.9
Neale P	195	47	589	25	23.56	1	5/48	3.02	46.8
Kirk P	194	55	473	24	19.71	-	4/20	2.44	48.5
Clark R	154	43	349	23	15.17	1	5/25	2,27	40.2
Palmer C	161	37	441	22	20.05	ı	5/42	2.74	43.9
Swan G	228	54	704	21	33.52	-	4/54	3.09	65.0
Rintoul A	164	27	495	20	24.75	1	6/64	3.02	49.2
Silinger T	162	37	485	16	30.31	1	5/79	3.00	60.7
Nice M	149	49	336	15	22.40	-	4/30	2.26	59.6
Wright S	198	38	559	15	37.27	-	4/54	2.82	79.4
Quai D	105	27	272	14	19.43	1	5/70	2.59	45.0
Cross A	79	19	183	13	14.08	-	4/42	2.32	36.5
Flynn A	105	34	258	13	19.85	-	4/26	2.46	48.5
Sharkey T	165	26	524	12	43.67	-	2/32	3.17	82,7
Catlin R	96	28	217	10	21.70	-	4/18	2.26	57.6
Part R	178	32	562	10	56.20	-	4/20	3.16	106.8
Allsopp D	95	24	270	9	30.00	-	3/33	2.84	63.3
Campbell R	76	18	271	9	30.11	-	2/10	3.57	50.7
Henryon P	85	13	339	9	37.67	•	3/21	3.99	56.7
Dwyer J	59	23	116	8	14.50	-	3/30	1.97	44.3
Bond D	71	16	201	8	25.13	-	4/33	2.83	53.3
Swan J	22	3	63	6	10.50	-	5/63	2.86	22.0
Rule N	38	13	80	6	13.33	-	3/13	2.11	38.0
Le Tessier B	109	15	314	6	52.33	-	1/15	2.88	109.0
Howman S	33	12	65	5	13.00	-	3/10	1.97	39.6
Rule V	62	19	187	5	37.40	-	1/18	3.02	74.4
Boyle S	34	7	109	4	27.25	-	2/12	3.21	51.0



	Overs	Maidens	Runs	Wickets	Average	Sw/Inn	Best	run rate :	strike rate
Goodwin M	11	1	48	3	16.00	-	2/24	4.43	21.7
Hughes D	25	3	96	3	32.00		2/17	3.84	50.0
McKeown P	6	1	25	2	12.50	-	2/22	4.17	18.0
Plaisted N	4	-	32	2	16.00	-	2/32	8.00	12.0
Tydde D	13	2	36	2	18,00		2/17	2.77	39.0
Riley J	27	11	41	2	20.50	-	2/24	1.52	81.0
Harris D	31	7	83	2	41.50		1/20	2.68	93.0
Isles C	43	12	147	2	73.50	-	1/12	3.42	129.0
Barnes D	- 11	1	11	l l	11.00		1/11	1.00	66.0
Payne C	7		44	1	44.00	-	1/37	6.29	42.0
Page S	4	-	54	ł.	54.00		1/21	13,50	24.0
Finlay W	16	-	79	1	79.00	-	1/25	4.94	96.0
Elliott M	15	-	86	1	86.00	-	1/66	5.73	90.0
Leahy S	22	3	88	1	88.00	-	1/30	4.00	132.0
Beattie T	17	4	45	-			0/8	2.65	-
Cann C	18	7	26		-	-	0/8	1.44	-
Dehring G	8	-	35	-	-	-	0/16	4.38	-
Lange K	1	-	13	-	-		0/13	13.00	-
Moran R	3	-	17	-	-		0/17	5.67	-
Webster G	3	ł	4	-	-	-	0/4	1.33	-
Worland A	8	-	29	-	•	-	0/29	3.63	-

### SUNDAY LEAGUE BATTING AVERAGES

	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average
McKeown P	2	2	-	51	35	-	-	25.50
Goodwin M	2	2	-	44	36	-		22.00
Dehring G	2	2	-	39	22	-	-	19.50
Herzberg S	3	3	•	55	19	-	-	18.33
Swan G	2	2	ì	11	6*			11.00
Harris D	3	3	-	31	17	-	-	10.33
Silinger T	3	3		20	13	-	-	6.67
Elliot M	3	3		17	8		-	5.67
Campbell R	2	2	-	10	10	-	-	5.00
Neale P	2	2	1	5	5*	-	-	5.00
Page S	3	3	-	15	9	-	-	5.00
Finlay W	3	3	-	10	10		-	3.33
Flynn A	1	1		1	1	-	-	1.00
Sharkey T	t	1	1	2	2*	-	-	-
Murphy J	I .	DNB	-				-	-



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

### SUNDAY LEAGUE BOWLING AVERAGES

	Overs	Maidens	Runs	Wickets	Average	Sw/Inn	Best	run rate	strike rate
Neale P	10	2	42	2	21.00	-	1	4.20	30.0
Elliot M	6	2	31	1	31.00	-	1	4.92	37.8
Sharkey T	7	-	39	i	39.00	-	1	5.57	42.0
Herzberg S	12	-	44	1	44.00	-	1	3.58	73.8
Silinger T	13	-	82	1	82.00	-	1	6.31	78.0
Swan G	11	-	56	-		-	1	5.09	-
Мигрћу Ј	7	2	20	-	-	-	1	2.86	-
Harris D	3	-	21	-		-	1	6.56	
Campbell R	3	-	20	-		-	1	6.67	•

### COLTS BATTING AVERAGES

	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average
Finlay W	3	3		133	95	1	-	44.33
Isles C	3	3	-	78	64	j.	-	26.00
McKeown P	4	4	-	92	66	1	-	23.00
Wright S	4	4	-	80	50	1	-	20.00
Elliot M	4	4	-	53	39	-	-	13.25
Christodoulou G	1	- 1	-	11	11	-	-	11.00
Lange K	4	4	-	43	30	-	-	10.75
Boyle S	3	3	-	24	13	-	-	8.00
Plaisted N	3	3	-	22	12	-	-	7.33
Bond D	3	3	-	21	21	-	٠	7.00
Lange A	3	3	-	9	5	-	-	3.00
Cross A	2	2	1	2	2*	-	-	2.00
Parr R	4	4	-	4	3	-	•	1.00
Allsopp D	1	1	-	1	1	-	-	1.00
Henryon P	2	2	-	-	•	-	-	-

# **COLTS BOWLING AVERAGES**

	Overs	Maidens	Runs	Wickets	Average	Sw/Inn	Best	run rate	strike rate
Parr R	24	1	111	5	22.20	-	1	4.57	29.2
Elliot M	38	2	144	6	24.00	-	1	3.79	38.0
Wright S	25	8	73	3	24,33	-	1	2.92	50,0
Isles C	30	4	122	5	24.40		1	4.07	36.0
Bond D	24	3	97	3	32.33	-	1	4.04	48.0
Cross A	8	2	35	1	35.00	-	1	4.38	48.0
Finlay W	27	1	88	2	44.00	-	1	3.32	79.5
Henryon P	17	2	62	-	-	-	1	3.65	-
Boyle S	2	-	11	-	-	-	1	5.50	-



# FIRST GRADE AVERAGES 1977/78 to 1995/96

BATTING	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Akhtar S	15	13	2	48	14	_		4.36	2	_
Alderman T	67	41	8	464	60	1	-	14.06	37	
Allen J	18	17	-	294	61	2	-	17.29	2	-
Anthony P	13	18	-	183	28			10.17	5	-
Auty C	23	29	7 .	491	52	1	-	22.32	13	-
Barlow G	12	15	2	422	66	4	-	32.46	3	-
Barnes A	5	6	-	49	34	-		8.17	1	-
Barr G	7	6	2	66	28	-	-	16.50	2	-
Beattie	12	19	2	268	55	1	-	15.76	6	•
Bolton A	4	4	-	59	49	-	-	14.75	1	-
Bolton N	4	4	-	33	25	-	-	8.25	-	-
Breman T	66	71	10	1632	102*	9	- 1	26.75	27	-
Brown R	10	12	1	173	58	1	-	15.73	4	•
Burgess G	9	11	1	82	24	-	•	8.20	2	-
Bush G	136	106	22	1028	55	1	-	12.24	47	
Cameron D	13	18	1	187	36*	-	-	11.00	9	-
Campbell R	30	52	9	884	79*	4	-	20.56	22	-
Capes P	54	50	11 -	453	47	-	-	11.62	10	-
Carlstein P	9	7	1	206	101	-	1	34.33	3	-
Christensen H	11	9	1	84	28*	-	-	10.50	2	-
Chrystal H	45	55	9	1148	131	5	1	24.96	21	-
Collins M	5	7	1	74	32	-	-	12.33	t	-
Cunningham E	14	14	ì	308	88*	2	-	23.69	5	-
Davies J	3	4	2	45	25*	-	-	22.50	-	-
Darragh D	4	5	-	113	57	1	-	22.60	-	-
Dehring G	65	80	4	1667	109	9	1	21.93	58	-
Elliot M	11	14	ı	372	69	3	-	28.62	6	-
Elliot R	34	37	4	560	48	-	-	16.97	24	-
Finlay W	6	8	1	65	30	-	-	9.29	7	-
Fitzgerald G	163	180	19	3488	150	13	2	21.66	274	41
Flynn A	2	3	-	11	7	-	-	3.67	-	-
George S	9	13	3	166	50	ı	-	16.60	6	-
Godfrey G	28	30	9	371	39*	•	•	17.67	9	-
Gonnella P	70	77	17	2237	123*	13	4		20	-
Goodwin M	56	66	8	2821	188	16	5	48.64	17	-
Hampton P	4	3	l	1	1	•	:	0.50	3	-
Hann G	44	51	8	876	109*	3	1	20.37	20	-
Harris D	11	14	1	142	46		-		5	-
Harris K	27	31	4	421	75	2	-		9	-
Henderson S	3	3	-	26	18	-	-	-,-,	-	-
Henryon P	5 12	4 13	1 4	2 322	1 93	-	-	0,07	-	-
Herzberg S	3	13 4		25	93 13	2	-		6	-
Hicks W			-		- 13	_	-	6.25	1	•
Higgins P	1	1	4	- 917	- 75	-	-		- 27	-
Hogan T	46 66	37 75	4 20	817 1616	75 85*	5 9	•	- 11.70	27 51	-
Hubble J	00	13	20	1010	83°	9	-	29.38	31	-



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

Hudson R	BATTING	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Hughes K	Hudson R	14	12	5	80	21*	-		11.43	1	-
Hurst J 21 24 6 213 42 - 11.83 18 - 18 18	Hughes G	84	101	7	2423	133	13	3	25.78	48	
Isles C	Hughes K	44	53	9	2498	205	9	8	56.77	21	-
Ireland D	Hurst J	21	24	6	213	42			11.83	18	-
Islip B	Isles C	4	6	2	97	42	-		24.25	3	
Jeffrey P	Ireland D	16	15	2	109	29*			8.38	3	-
Jones P	Islip B	5	3	i	35	20*	-		17.50	2	
Kiely A 3 3 3 2 1 1 1 - 1.00 1 - 1.00 1 - 1.00 1   - 1.00   1   - 1.00	Jeffrey P	11	13	1	335	46	-	-	27.92	2	_
King I 56 52 4 720 70 3 - 15.00 7 - Kirk P 111 10 3 82 333 - 11.71 5 - 11.71	Jones P	106	106	40	934	52	1	-	14.15	216	16
Kirk P	Kiely A	3	3	2	1	l	-		1.00	1	
Knight N	King I	56	52	4	720	70	3		15.00	7	-
Levy W	Kirk P	11	10	3	82	33	-	-	11.71	5	
Lubich C  MacGill T  12  12  12  13  14  MacGill T  12  12  13  14  15  16  MacNown P  10  13  0  420  132  2  1  32.31  5  Marshall P  10  11  -  219  79  1  1  19  1  516  99*  2  2  28.67  4  Morris J  12  15  15  Mulhall S  55  68  3  1718  135  13  12  643  7  7  Mulhall S  55  68  3  1718  135  13  12  26.43  31  Murphy J  6  5  8  Murphy J  6  6  5  8  3  1718  135  13  1  26.43  31  Murphy J  6  6  7  8  Moldich P  97  3  35  15  -  8  Neilson S  47  40  9  326  38  -  Nicholls P  31  37  4  1401  151  7  3  42  43  Nixon M  1  1  1  1  1  1  1  1  1  1  1  1  1	Knight N	4	4	-	44	30	-		11.00	3	-
MacGill T         12         12         2         196         47         -         -         19.60         5         -           McKeown P         10         13         0         420         132         2         i         32.31         5         -           MacNhish D         4         5         -         33         19         -         -         6.60         3         -           Marshall P         10         11         -         219         79         1         -         19.91         1         -         19.91         1         -         19.91         1         -         19.91         1         -         19.91         1         -         19.91         1         -         19.92         2         -         28.67         4         -         -         40.01         -         -         10.02         4         -         -         -         10.72         19.90         4         -         -         23.90         4         -         -         -         41.43         7         -         40.71         -         10.01         -         -         10.00         -         -         -         10.00	Levy W	3	3	l l	22	12		-	11.00	2	-
McKeown P         10         13         0         420         132         2         1         32.31         5         -           Marshall P         10         11         -         219         79         1         -         19.91         1         -           Mine A         37         36         4         764         78         6         -         23.88         18           Moldrich P         17         19         1         516         99*         2         -         28.67         4         -           Morris J         16         21         -         502         139         1         2         23.90         4         -           Murphy J         6         5         2         30         16         -         -         10.00         -         -         -         Nichall         -         -         10.52         19         -         -         8.75         5         -         R         -         -         13         -         -         -         -         -         -         -         -         -         -         -         -         -         -         -         -	-	68	76	15	1037	74*	5	-	17.00	34	-
MacNish D         4         5         -         33         19         -         -         6.60         3         -           Marshall P         10         11         -         219         79         1         -         19.91         1           Milne A         37         36         4         764         78         6         -         23.88         18           Modrich P         17         19         1         516         99*         2         -         28.67         4         -           Morris J         12         15         1         580         99         6         -         41.43         7         -           Mulhall S         55         68         3         1718         135         13         1         26.43         31         -           Murphy J         6         5         2         30         16         -         10.00         -         -           Neale P         9         7         3         35         15         -         8.75         5         -           Neilson S         47         40         9         326         38         -         10.	MacGill T	12	12	2	196	47	_	-	19.60	5	-
Marshall P         10         11         -         219         79         1         -         19.91         1         -           Milne A         37         36         4         764         78         6         -         23.88         18         -           Molris J         17         19         1         516         99*         2         -         28.67         4         -           Morris J         12         15         1         580         99         6         -         41.43         7         -           Mulrall S         55         68         3         1718         135         13         1         26.43         31         -           Murphy J         6         5         2         30         16         -         -         10.00         -         -           Neilson S         47         40         9         326         38         -         -         10.52         19         -           Nicson M         44         49         2         700         83         1         -         14.89         18         -           Nixon M         1         1	McKeown P	10	13	0	420	132	2	1	32.31	5	-
Milne A         37         36         4         764         78         6         - 23.88         18         -           Moldrich P         17         19         1         516         99*         2         - 28.67         4         -           Moran R         16         21         -         502         139         1         2         23.90         4         -           Morris J         12         15         1         580         99         6         -         41.43         7         -           Mulphy J         6         5         2         30         16         -         -         10.00         -         -           Neale P         9         7         3         35         15         -         -         8.75         5         -           Neale P         9         7         3         326         38         -         -         10.00         -         -         Neilson S         47         40         9         326         38         -         -         10.52         19         -           Nicoll S P         31         37         4         1401         151	MacNish D	4	5	-	33	19	-	-	6.60	3	-
Moldrich P         17         19         1         516         99*         2         2 8.67         4         -           Morn R         16         21         -         502         139         1         2 23.90         4         -           Morris J         12         15         1         580         99         6         -         41.43         7         -           Mulhall S         55         68         3         1718         135         13         1         26.43         31         -           Neale P         9         7         3         35         15         -         -         8.75         5         -           Neilson S         47         40         9         326         38         -         -         10.52         19         -           Nicholls P         31         37         4         1401         151         7         3         42.45         13         -           Nicholls P         31         37         4         1401         151         7         3         42.45         13         -           Nicholls P         31         2         700         83 </td <td>Marshall P</td> <td>10</td> <td>11</td> <td></td> <td>219</td> <td>79</td> <td>- 1</td> <td>-</td> <td>19.91</td> <td>1</td> <td>_</td>	Marshall P	10	11		219	79	- 1	-	19.91	1	_
Moran R         16         21         -         502         139         1         2         23,90         4         -           Morris J         12         15         1         580         99         6         -         41.43         7         -           Mulhall S         55         68         3         1718         135         13         1         26.43         31         -           Murphy J         6         5         2         30         16         -         -         10.00         -         -           Neale P         9         7         3         35         15         -         -         8.75         5         -           Neilson S         47         40         9         326         38         -         -         10.52         19         -           Nicholls P         31         37         4         1401         151         7         3         42.45         13         -           Nicon M         4         49         2         700         83         1         14.89         18         -           Nixon M         1         1         -         19 <td>Milne A</td> <td>37</td> <td>36</td> <td>4</td> <td>764</td> <td>78</td> <td>6</td> <td>-</td> <td>23.88</td> <td>18</td> <td>-</td>	Milne A	37	36	4	764	78	6	-	23.88	18	-
Morris J 12 15 1 580 99 6 - 41.43 7 - Mulhall S 55 68 3 1718 135 13 1 26.43 31 - Murphy J 6 5 2 30 16 - 10.00 Neale P 9 7 3 355 15 - 8.75 5 - Neilson S 47 40 9 326 38 - 10.52 19 - Nicholls P 31 37 4 1401 151 7 3 42.45 13 - Nice M 44 49 2 700 83 1 - 14.89 18 - Nixon M 1 1 - 19 19 - 19.00 10.00 - 10.00 -	Moldrich P	17	19	1	516	99*	2		28.67	4	-
Mulhall S         55         68         3         1718         135         13         1         26.43         31         -           Murphy J         6         5         2         30         16         -         -         10.00         -         -           Neale P         9         7         3         35         15         -         -         8.75         5         -           Neilson S         47         40         9         326         38         -         -         10.52         19         -           Nicholls P         31         37         4         1401         151         7         3         42.45         13         -           Nice M         44         49         2         700         83         1         -         14.89         18         -           Nixon M         1         1         -         19         19         -         -         19.00         -         -           O'Brien G         9         7         1         48         25         -         8.00         2         -           O'Regan D         1         2         -         5	Moran R	16	21	-	502	139	1	2	23.90	4	-
Murphy J 6 5 2 30 16 - 10.00 - Neale P 9 7 3 35 15 - 8.75 5 - Neilson S 47 40 9 326 38 - 10.52 19 - Nicholls P 31 37 4 1401 151 7 3 42.45 13 - Nice M 44 49 2 700 83 1 - 14.89 18 - Nixon M 1 1 - 19 19 - 19.00 O'Brien G 9 7 1 48 25 - 8.00 2 - O'Regan D 1 2 - 5 4 - 2.50 - Page S 61 70 10 1144 117* 4 1 19.07 42 - Palmer B 2 2 1 1 24 19 - 24.00 2 - Parker B 17 20 3 190 40 - 11.18 5 - Parker B 17 20 3 190 40 - 11.18 5 - Parker B 17 20 3 190 40 - 11.18 5 - Parker B 17 20 3 190 40 - 11.18 5 - Parker B 41 46 7 802 72 4 - 20.56 5 - Perrott C 26 30 2 559 68 3 - 19.96 12 - Piromalli J 16 18 2 419 85 2 - 26.19 7 - Porter G 27 34 3 718 97 4 - 23.16 15 - Pringle N 1 1 - 2 2 - 200 - Ralph W 5 4 2 22 16* - 10.00 1 - Raven B 109 81 44 282 20* - 7.62 25 - Raven D 16 13 8 62 12 - 12.40 4 - Reed D 27 28 7 465 74 - 22.14 Rule N 22 28 2 512 55 1 - 19.69 6 - Rule V 52 56 12 916 59 3 - 20.82 33 - 20.82 33	Morris J	12	15	1	580	99	6	-	41.43	7	-
Neale P         9         7         3         35         15         -         -         8.75         5         -           Neilson S         47         40         9         326         38         -         -         10.52         19         -           Nicholls P         31         37         4         1401         151         7         3         42.45         13         -           Nice M         44         49         2         700         83         1         -         14.89         18         -           Nixon M         1         1         -         19         19         -         -         19.00         -         -         -         -         000         -         -         -         -         2000         -         -         -         -         2000         -         -         -         -         -         -         -         100         - <t< td=""><td>Mulhall S</td><td>55</td><td>68</td><td>3</td><td>1718</td><td>135</td><td>13</td><td>1</td><td>26.43</td><td>31</td><td></td></t<>	Mulhall S	55	68	3	1718	135	13	1	26.43	31	
Neilson S         47         40         9         326         38         -         -         10.52         19         -           Nicholls P         31         37         4         1401         151         7         3         42.45         13         -           Nice M         44         49         2         700         83         1         -         14.89         18         -           Nixon M         1         1         -         19         19         -         -         19.00         -         -           O'Brien G         9         7         1         48         25         -         -         8.00         2         -           O'Regan D         1         2         -         5         4         -         -         2.50         -         -           Page S         61         70         10         1144         117*         4         1         19.07         42         -           Palmer B         2         2         1         24         19         -         -         24.00         2         -           Panegyres P         8         8         1	Murphy J	6	5	2	30	16	-		10.00	-	-
Nicholls P         31         37         4         1401         151         7         3         42.45         13         -           Nice M         44         49         2         700         83         1         -         14.89         18         -           Nixon M         1         1         -         19         19         -         -         19.00         -         -           O'Brien G         9         7         1         48         25         -         -         8.00         2         -           O'Regan D         1         2         -         5         4         -         -         2.50         -         -           Page S         61         70         10         1144         117*         4         1         19.07         42         -           Page S         61         70         10         1144         117*         4         1         19.07         42         -           Page S         61         70         10         1144         117*         4         1         19.07         42         -           Palge S         8         8         1		9	7	3	35	15			8.75	· 5	-
Nice M	Neilson S	47	40	9	326	38		-	10.52	19	-
Nixon M    1	Nicholls P	31	37	4	1401	151	7	3	42.45	13	
O'Brien G 9 7 1 48 25 - 8.00 2 - O'Regan D 1 2 - 5 4 - 2.50 Page S 61 70 10 1144 117* 4 1 19.07 42 - Palmer B 2 2 1 24 19 - 24.00 2 - Panegyres P 8 8 1 104 37 - 14.86 2 - Parker B 17 20 3 190 40 - 11.18 5 - Payne C 2 2 - 31 16 - 15.50 1 - Penter K 41 46 7 802 72 4 - 20.56 5 - Perrott C 26 30 2 559 68 3 - 19.96 12 - Piromalli J 16 18 2 419 85 2 - 26.19 7 - Porter G 27 34 3 718 97 4 - 23.16 15 - Pringle N 1 1 1 - 2 2 2 - 200 - Ralph W 5 4 2 22 16* - 11.00 1 - Raven B 109 81 44 282 20* - 7.62 25 - Raven D 16 13 8 62 12 - 12.40 4 - Reed D 27 28 7 465 74 - 22.14 Rule N 22 28 2 512 55 1 - 19.69 6 - Rule V 52 56 12 916 59 3 - 20.82 33 -	Nice M	44	49	2	700	83	- 1		14.89	18	-
O'Regan D         1         2         -         5         4         -         -         2.50         -         -           Page S         61         70         10         1144         117*         4         1 19.07         42         -           Palmer B         2         2         1         24         19         -         -         24.00         2         -           Panegyres P         8         8         1         104         37         -         -         14.86         2         -           Parker B         17         20         3         190         40         -         -         11.18         5         -           Parker B         17         20         3         190         40         -         -         11.18         5         -           Payne C         2         2         -         31         16         -         -         15.50         1         -           Penter K         41         46         7         802         72         4         -         20.56         5         -           Perrott C         26         30         2         559	Nixon M	1	1	_	19	19		-	19.00	-	-
Page S 61 70 10 1144 117* 4 1 19.07 42 - Palmer B 2 2 1 24 19 - 24.00 2 - Panegyres P 8 8 1 104 37 - 14.86 2 - Parker B 17 20 3 190 40 - 11.18 5 - Payne C 2 2 - 31 16 - 15.50 1 - Penter K 41 46 7 802 72 4 20.56 5 - Perrott C 26 30 2 559 68 3 - 19.96 12 - Piromalti J 16 18 2 419 85 2 - 26.19 7 - Porter G 27 34 3 718 97 4 23.16 15 - Pringle N 1 1 1 - 2 2 2 - 2.00 - Ralph W 5 4 2 22 16* - 11.00 1 - Raven B 109 81 44 282 20* - 7.62 25 - Raven D 16 13 8 62 12 - 12.40 4 - Reed D 27 28 7 465 74 - 22.14 - Rule N 22 28 2 512 55 1 - 19.69 6 - Rule V 52 56 12 916 59 3 - 20.82 33	O'Brien G	9	7	1	48	25	-	-	8.00	2	-
Page S         61         70         10         1144         117*         4         1         19.07         42         -           Palmer B         2         2         1         24         19         -         -         24.00         2         -           Panegyres P         8         8         1         104         37         -         -         14.86         2         -           Parker B         17         20         3         190         40         -         -         11.18         5         -           Payre C         2         2         -         31         16         -         -         15.50         1         -           Penter K         41         46         7         802         72         4         -         20.56         5         -           Perrott C         26         30         2         559         68         3         -         19.96         12         -           Pirotter G         27         34         3         718         97         4         -         23.16         15         -           Pringle N         1         1         - <td>O'Regan D</td> <td>1</td> <td>2</td> <td>-</td> <td>5</td> <td>4</td> <td></td> <td></td> <td>2.50</td> <td>-</td> <td>-</td>	O'Regan D	1	2	-	5	4			2.50	-	-
Palmer B         2         2         1         24         19         -         -         24.00         2         -           Panegyres P         8         8         1         104         37         -         -         14.86         2         -           Parker B         17         20         3         190         40         -         -         11.18         5         -           Payne C         2         2         -         31         16         -         -         15.50         1         -           Penter K         41         46         7         802         72         4         -         20.56         5         -           Perrott C         26         30         2         559         68         3         -         19.96         12         -           Pirott G         27         34         3         718         97         4         -         23.16         15         -           Pringle N         1         1         -         2         2         2         2.00         -         -           Ralph W         5         4         2         22	•	61	70	10	1144	117*	4	- 1	19.07	42	-
Parker B         17         20         3         190         40         -         -         11.18         5         -           Payne C         2         2         -         31         16         -         -         15.50         1         -           Penter K         41         46         7         802         72         4         -         20.56         5         -           Perrott C         26         30         2         559         68         3         -         19.96         12         -           Piromalli J         16         18         2         419         85         2         -         26.19         7         -           Porter G         27         34         3         718         97         4         -         23.16         15         -           Pringle N         1         1         -         2         2         -         -         200         -         -           Ralph W         5         4         2         22         16*         -         -         11.00         1         -           Raven B         109         81         44	Palmer B	2	2	1	24	19	-	-	24.00	2	-
Payne C         2         2         -         31         16         -         -         15.50         1         -           Penter K         41         46         7         802         72         4         -         20.56         5         -           Perrott C         26         30         2         559         68         3         -         19.96         12         -           Piromalli J         16         18         2         419         85         2         -         26.19         7         -           Porter G         27         34         3         718         97         4         -         23.16         15         -           Pringle N         1         1         -         2         2         -         -         200         -           Ralph W         5         4         2         22         16*         -         11.00         1         -           Raven B         109         81         44         282         20*         -         -         7.62         25         -           Raven D         16         13         8         62         12	Panegyres P	8	8	1	104	37	-	-	14.86	2	-
Penter K 41 46 7 802 72 4 - 20.56 5 - Perrott C 26 30 2 559 68 3 - 19.96 12 - Piromallii J 16 18 2 419 85 2 - 26.19 7 - Porter G 27 34 3 718 97 4 - 23.16 15 - Pringle N 1 1 - 2 2 2 - 2.00 - Ralph W 5 4 2 22 16° - 11.00 1 - Raven B 109 81 44 282 20° - 7.62 25 - Raven D 16 13 8 62 12 - 12.40 4 - Reed D 27 28 7 465 74 - 22.14 - Rule N 22 28 2 512 55 1 - 19.69 6 - Rule V 52 56 12 916 59 3 - 20.82 33 -	Parker B	17	20	3	190	40		-	11.18	5	-
Penter K         41         46         7         802         72         4         - 20.56         5         -           Perrott C         26         30         2         559         68         3         - 19.96         12         -           Piromalli J         16         18         2         419         85         2         - 26.19         7         -           Porter G         27         34         3         718         97         4         - 23.16         15         -           Pringle N         1         1         -         2         2         -         - 2.00         -         -           Ralph W         5         4         2         22         16*         -         - 11.00         1         -           Raven B         109         81         44         282         20*         -         - 7.62         25         -           Raven D         16         13         8         62         12         -         - 12.40         4         -           Reed D         27         28         7         465         74         -         -         22.14         -         - <td>Payne C</td> <td>2</td> <td>2</td> <td>-</td> <td>31</td> <td>16</td> <td>_</td> <td>-</td> <td>15.50</td> <td>1</td> <td>-</td>	Payne C	2	2	-	31	16	_	-	15.50	1	-
Piromalli J       16       18       2       419       85       2       - 26.19       7       -         Porter G       27       34       3       718       97       4       - 23.16       15       -         Pringle N       1       1       -       2       2       -       - 2.00       -       -         Ralph W       5       4       2       22       16*       -       - 11.00       1       -         Raven B       109       81       44       282       20*       -       - 7.62       25       -         Raven D       16       13       8       62       12       -       - 12.40       4       -         Reed D       27       28       7       465       74       -       - 22.14       -       -         Rule N       22       28       2       512       55       1       - 19.69       6       -         Rule V       52       56       12       916       59       3       - 20.82       33       -	•	41	46	7	802	72	4	-	20.56	5	-
Porter G         27         34         3         718         97         4         - 23.16         15         -           Pringle N         1         i         -         2         2         -         - 2.00         -         -           Ralph W         5         4         2         22         16*         -         - 11.00         1         -           Raven B         109         81         44         282         20*         -         - 7.62         25         -           Raven D         16         13         8         62         12         -         - 12.40         4         -           Reed D         27         28         7         465         74         -         - 22.14         -         -           Rule N         22         28         2         512         55         1         - 19.69         6         -           Rule V         52         56         12         916         59         3         - 20.82         33         -	Perrott C	26	30	2	559	68	3		19.96	12	-
Pringle N       1       1       -       2       2       -       -       2.00       -       -         Ralph W       5       4       2       22       16*       -       -       11.00       1       -         Raven B       109       81       44       282       20*       -       -       7.62       25       -         Raven D       16       13       8       62       12       -       -       12.40       4       -         Reed D       27       28       7       465       74       -       -       22.14       -       -         Rule N       22       28       2       512       55       1       -       19.69       6       -         Rule V       52       56       12       916       59       3       -       20.82       33       -	Piromalli J	16	18	2	419	85	2	-	26.19	7	-
Ralph W 5 4 2 22 16* 11.00 1 - Raven B 109 81 44 282 20* 7.62 25 - Raven D 16 13 8 62 12 12.40 4 - Reed D 27 28 7 465 74 22.14 Rule N 22 28 2 512 55 1 - 19.69 6 - Rule V 52 56 12 916 59 3 - 20.82 33 -	Porter G	27	34	3	718	97	4	-	23.16	15	•
Raven B     109     81     44     282     20*     -     -     7.62     25     -       Raven D     16     13     8     62     12     -     -     12.40     4     -       Reed D     27     28     7     465     74     -     -     22.14     -       Rule N     22     28     2     512     55     1     -     19.69     6     -       Rule V     52     56     12     916     59     3     -     20.82     33     -	Pringle N	1	i	-	2	2	-		2.00	-	-
Raven D     16     13     8     62     12     -     -     12.40     4     -       Reed D     27     28     7     465     74     -     -     22.14     -     -       Rule N     22     28     2     512     55     1     -     19.69     6     -       Rule V     52     56     12     916     59     3     -     20.82     33     -	Ralph W	5	4	2	22	16*	-	-	11.00	1	-
Raven D     16     13     8     62     12     -     -     12.40     4     -       Reed D     27     28     7     465     74     -     -     22.14     -     -       Rule N     22     28     2     512     55     1     -     19.69     6     -       Rule V     52     56     12     916     59     3     -     20.82     33     -	•	109	81	44	282	20*	-	-	7.62	25	-
Rule N 22 28 2 512 55 1 - 19.69 6 - Rule V 52 56 12 916 59 3 - 20.82 33 -		16	13	8	62	12	-	-	12.40	4	•
Rule N 22 28 2 512 55 1 - 19.69 6 - Rule V 52 56 12 916 59 3 - 20.82 33 -	Reed D	27	28	7	465	74	-	-	22.14	-	-
Rule V 52 56 12 916 59 3 - 20.82 33 -		22	28	2	512	55	1	-	19.69	6	-
Sanders P 4 5 1 112 43 28.00 1 -		52	56	12	916	59	3	-	20.82	33	-
	Sanders P	4	5	1	112	43	-	-	28.00	1	-



BATTING	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stumping
Saunders D	25	26	4	578	92*	3	_	26.27	11	-
Saunders M	10	6	1	117	69*	1		23.40	4	
Sharkey T	2	t	0	4	4	-		4.00	0	-
Sharp K	21	23	3	1083	169	7	2	54.15	7	
Silinger T	10	9	2	40	18	-	-	5,71	8	
Simpson M	18	20	3	433	53*	1	-	25.47	9	_
Smailes C	76	85	. 6	2101	114	- 11	4	26.59	30	-
Smith B	2	2	1	4	3*			4.00	-	
Stafford G	11	13	3	131	71*	1	-	13.10	3	-
Statham R	11	11	2	146	35		-	16.22	- 1	
Swan G	51	52	11	324	44		-	7.90	8	-
Tate G	1	1	-	5	5	-	-	5.00	-	
Tolev G	3	3	-	15	9			5.00	3	-
Travis G	21	22	2	416	97*	3		20.80	8	-
Ward B	2	2	-	-	-	-	-	-	2	-
Wilson J	5	3	2	12	8*			12.00	2	
Worland A	1	2	ı	14	14		-	14.00	-	-
Wright S	29	33	4	635	165	1	1	21.90	15	-

BOWLING	Overs	Muidens	Runs	Wickets	Average	Sw/Inn	Best	run rate	strike rate
Akhtar S	218	58	614	37	16.59	3	5/28	2.81	35.4
Alderman T	1388	381	3404	231	14.74	14	7/26	2.45	36.1
Allen J	223	49	691	27	25.59	-	3/33	3.09	49.6
Auty C	416	98	1129	43	26.26	1	7/85	2.71	58.1
Barr G	46	8	126	4	31.50	-	3/7	2.74	69.0
Beattie	26	-	81	2	40.50	-	2/20	3.12	78.0
Bolton N	2	-	10	-	-	-	-	5,00	-
Breman T	489	174	1835	75	24.47	5	6/23	3.75	39.1
Brown R	96	10	404	13	31.08	1	5/66	4.21	44.3
Bush G	2913	830	7686	386	19.91	26	7/45	2.64	45.3
Campbell R	331	41	1142	33	34,61	-	3/39	3.45	60.2
Capes P	980	194	2625	109	24.08	7	7/50	2.68	54.0
Christensen H	116	34	325	20	16.25	-	4/18	2.80	34.8
Chrystal H	91	12	268	10	26.80		3/74	2.96	54.3
Collins	48	5	199	7	28.43	•	4/42	4.15	41.1
Cunningham E	8	2	16	-	-	-	-	2.00	-
Dehring G	24	3	136	2	68.00		1/20	5.67	72.0
Elliot M	15	0	86	1	86.00	-	1/66	5.73	90.0
Finlay W	16	0	79	t	79.00		1/25	4.94	96.0
Fitzgerald G	5	1	18	-	-	-	-	3.60	-
Flynn A	24	2	95	1	95.00	-	1/43	3.96	144.0
George S	12	-	26	ŧ	26.00	-	1/26	2.17	72.0
Godfrey G	311	32	939	18	52.17	-	3/59	3.02	103.7
Gonnella P	7	1	16	i	16.00	-	1/6	2.29	42.0
Goodwin M	13	ı	70	3	23.33	-	2/24	5.38	26.0
Hampton P	63	10	190	9	21.11	-	3/28	3.02	42.0
Hann G	216	50	571	13	43.92	-	2/0	2.64	99.7



# SUBIACO - FLOREAT CRICKET CLUB (Inc)

BOWLING	Overs	Maidens	Runs	Wickets	Average	Sw/Inn	Best	run rate	strike rate
Harris D	14	1	63	1	63.00	_	1/20	4.50	84.0
Harris K	2	-	13	1	13.00	-	1/13	8.67	9.0
Henderson S	5	-	18	1	18.00	•	1/18	3.46	31.2
Henryon P	75	5	366	4	91.50	-	1/60	4.88	112,5
Herzberg S	286	92	694	36	19.28	i	5/43	2.42	47.7
Higgins P	9	2	31	-	-	-	-	3.44	-
Hogan T	853	269	2081	107	19.45	5	7/62	2,44	47.8
Hubble J	289	53	820	36	22.78	-	4/17	2.84	48.2
Hudson R	97	24	330	H	30.00	-	4/52	3.39	53.1
Hughes G	267	84	622	25	24.88	-	4/27	2.33	64.1
Hughes K	6	1	24	-	-	-	-	4.00	-
Hurst J	57	15	161	- 1	161.00	-	1/30	2.82	342.0
Ireland D	346	88	886	36	24.61	-	4/27	2.56	57.7
Isles C	19	4	64	1	64.00	-	1/22	3.37	114.0
Islip B	49	8	184	3	61.33	-	2/65	3.76	98.0
Jeffrey P	206	44	599	30	19.97	-	4/31	2,91	41.2
Jones P	7	2	35	2	17.50	-	1/3	4.79	21.9
Kiely A	35	11	107	4	26.75	-	4/36	3.06	52.5
King I	1025	260	2746	145	18.94	5	7/15	2.68	42.4
Kirk P	113	20	447	5	89.40	-	2/22	3.96	135.6
Knight N	4	-	12	1	12.00	-	1/12	3.00	24,0
Lubich C	1159	306	3047	122	24.98	3	7/145	2.63	57.0
MacGill T	292	87	638	29	22.00	1	5/16	2.18	60.5
McKeown P	6	ı	25	2	12.50	0	2/22	4.17	18.0
MacNish D	10	3	36	1	36.00	-	1/21	3.60	60.0
Milne A	2	•	4	1	4.00	-	1/0	2.00	12.0
Moldrich P	94	19	339	8	42.38	1	5/59	3.59	70.8
Moran R	26	3	63	1	63.00	-	1/4	2.42	156.0
Mulhall S	2	•	12	-	-		-	6.00	-
Murphy J	98	30	257	3	85.67	-	1/5	2.64	195.0
Neale P	156	38	470	17	27.65	1	5/48	3.01	55.1
Neilson S	618	136	1917	68	28.19	3	5/25	3.10	54.5
Nice M	187	26	542	13	41.69	-	2/56	2.90	86.3
Nicholls P	331	53	845	34	24.85		4/29	2.55	58.5
O'Brien G	84	18	318	8	39.75	-	5/83	3.79	63.0
Page S	9	-	101	3	33.67	-	2/41	11.22	18.0
Palmer B	10	1	35	2	17.50	-	1/16	3.50	30.0
Panegyres P	59	18	136	6	22.67	-	3/14	2.31	59.0
Parker B	254	57	594	18	33.00	1	5/48	2.34	84.7
Penter K	427	127	909	50	18.18	2	5/46	2.13	51.3
Perrott C	147	25	504	20	25.20	-	3/40	3.43	44.1
Piromalli J	9	. 1	49	1	49.00	-	1/11	5.38	54.6
Porter G	380	114	920	44	20.91	1	7/20	2.42	51.8
Ralph W	73	25	167	5	33.40	-	2/19	2.29	87.6
Raven B	2123	505	5039	269	18.73	11	7/29	2.37	47.4
Raven D	259	49	731	28	26.11	1	5/55	2.82	55.5
Rule V	43	6	200	4	50.00	-	1/18	4.65	64.5
Saunders M	159	27	507	13	39.00	-	4/34	3.19	73.4
Sharkey T	29	4	89	2	44.50	-	2/33	3.07	87.0



BOWLING	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best	run rate	strike rate
Silinger T	137	29	434	13	33.38	1	5/79	3.17	63.2
Simpson M	5	-	44	1	44.00	-	1/44	8.80	30.0
Smailes C	18	3	82	3	27.33		2/18	4.56	36.0
Smith B	10	1	36	-	-	-	-	3.60	-
Swan G	961	159	3030	108	28.06	2	6/60	3.15	53.4
Tate G	18	3	65	1	65.00	-	1/20	3.61	108.0
Wilson J	67	12	238	5	47.60		3/50	3.55	80.4
Wright S	32	12	64	2	32.00	-	2/39	2.00	96.0

## FIRST GRADE MATCH RESULTS

1977/78 to 1995/96

Year	Played	Won	Lost	Drawn
1977/78	12	5	7	-
1978/79	14	11	3	-
1979/80	14	9	4	1
1980/81	14	10	3	1
1981/82	13	3	9	1
1982/83	12	3	8	1
1983/84	14	5	8	8
1984/85	14	5	7	2
1985/86	14	7	4	3
1986/87	14	6	5	3
1987/88	17	11	6	-
1988/89	14	3	6	5
1989/90	14	5	5	4
1990/91	13	8	4	1
1991/92	12	5	6	1
1992/93	12	2	10	-
1993/94	12	5	7	-
1994/95	12	3	9	-
1995/96	12	5	6	1
	241	106	111	31